£0537_09.pct (crid) =L ::

£0539_02.pet (crid) =R
£0540_08.pct (crid) = T

f0598_08.pct (crid) = A

f0617_01.pct (crid) = A
£0624_03.pct (crid) = A
f0646_09.pct (crid) =T

f0668_02.pct (crid) =R
f0676_02.pct (crid) =R
f0684_02.pct (crid) =R
f0697_07.pct (crid) =L

£0702_08.pet (crid) =L
£0703_02.pet (crid) = A

f0713_03.pct (crid) =T

f0731_02.pct (crid) =R

f0742_07.pct (crid) =L

£0743_07.pet (crid) =R

£0746_10.pet (crid) =L

$0537_09.pct (crid) =L

::50539_02.pct (crid) =R
:: 50540_08.pct (crid) =T
£0550_02.pct (crid) =R ::
f0551_08.pct (crid) =R ::
f0559_09.pct (crid) =T =
£f0560_08.pct (crid) = A =
f0561_08.pct (crid) = A =
f0568_07.pct (crid) = A =
f0571_02.pct (crid) = A ::
f0574_09.pct (crid) =R ::
f0581_04.pct (crid) =R ::
f0586_02.pct (crid) =T ::
f0595_08.pct (crid) = A =

s0550_02.pct (crid) =R
s0551_08.pct (crid) =R
s0559_09.pct (crid) =T
s0560_08.pct (crid) = A
s0561_08.pct (crid) = A
s0568_07.pct (crid) = A
s0571_02.pct (crid) = A
s0574_09.pct (crid) =R
s0581_04.pct (crid) =R
s0586_02.pct (crid) =T
s0595_08.pct (crid) = A

:: s0598_08.pct (crid) = A
f0610_04.pct (crid) =R ::
f0616_08.pct (crid) =L ::

s0610_04.pct (crid) =R
s0616_08.pet (crid) =L

:: s0617_01.pct (crid) = A
:: s0624_03.pct (crid) = A
:: s0646_09.pct (crid) =T
f0659_10.pct (crid) =L ::
f0660_02.pct (crid) =R ::
f0664_03.pct (crid) =T ::

s0659_10.pct (crid) =L
s0660_02.pct (crid) =R
s0664_03.pct (crid) =T

:: s0668_02.pct (crid) =R
f0674_04.pct (crid) =R ::

s0674_04.pct (crid) =R

:: s0676_02.pct (crid) =R
:: s0684_02.pct (crid) =R
£0692_02.pct (crid) =L ::
f0693_03.pct (crid) = A =

s0692_02.pct (crid) =L
s0693_03.pct (crid) = A

:: s0697_07.pct (crid) =L
f0698_08.pct (crid) =R ::

s0698_08.pct (crid) =R

+: s§0702_08.pct (crid) =L
:: s0703_02.pct (crid) = A
£0708_03.pct (crid) =R ::
=+ s0713_03.pct (crid) =T
£f0721_03.pct (crid) =R ::
£0727_07.pct (crid) =L ::
£0728_09.pct (crid) = A ::

s0708_03.pct (crid) =R

s0721_03.pct (crid) =R
§0727_07.pct (crid) =L
s0728_09.pct (crid) = A

::50731_02.pct (crid) =R
f0733_08.pct (crid) =L ::
f0741_03.pct (crid) = A =

s0733_08.pct (crid) =L
s0741_03.pct (crid) = A

:: 50742_07.pct (crid) =L
:: s0743_07.pct (crid) =R
f0744_08.pct (crid) =R ::
:: §0746_10.pct (crid) =L
£0757_10.pct (crid) =T ::

s0744_08.pct (crid) =R

s0757_10.pct (crid) =T
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